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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 The number of regular polygons that tessellate is

Ans x1~ 6

X
w
W

Question ID : 3026163323
Option 11D : 30261613292
Option 2 ID : 30261613289
Option 31D : 30261613291
Option 4 ID : 30261613290
Status : Answered
Chosen Option : 1

Q2 YWhere does the process of Fertilisation take place in the human body?
Ans - X 1. Uterus

/X 2. Ovary

« 3. Fallopian tube

/< 4 Vagina

Question ID : 3026163380
Option 11D : 30261613518
Option 2 ID : 30261613517
Option 31D : 30261613519
Option 4 ID : 30261613520
Status : Answered
Chosen Option : 3

Q.3
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Ans x 1. B
X2 C
v A
X4D
Question ID : 3026163355
Option 11D : 30261613418
Option 2 ID : 30261613419

Option 31D : 30261613417
Option 4 ID : 30261613420
Status : Answered
Chosen Option: 3

4 wergle o ¥ @y AT a9 W Reaw Rewa & &1 Far sam
Ans «1_ ool
X 2. TS

X3 At
X 4 e

Question ID : 3026163370
Option 11D : 30261613479
Option 2 1D : 30261613480
Option 31D : 30261613478
Option 4 1D : 30261613477
Status : Answered
Chosen Option : 4

S yAfafRT F ¥ F47 sin(90°—6) F?

Chosen Option :

Ans X 1. sin

v 2 cosB

X 3 cot@

/< 4 cosec®
Question ID : 3026163321
Option 11D : 30261613281
Option 2 ID : 30261613282
Option 31D : 30261613284
Option 4 ID : 30261613283

Status : Answered
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Q.6 Tr=fafa § @ sl O awr st e S ganr S S § 3 58 sEderer ofr s s 27

A EyPyer
X2 e
X 3. SdTeEr
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Question ID : 3026163386
Option 1 ID : 30261613542
Option 2 ID : 30261613543
Option 31D : 30261613544
Option 4 ID : 30261613541
Status : Answered
Chosen Option : 1

¥ e § ¥ hue uees I ¥ uee ¥ 30 g 2
Ans x.l_ ﬁﬂ

X2 g%

v o o @ e

X4 FiE
Question ID : 3026163356
Option 11D : 30261613424
Option 2 ID : 30261613421
Option 31D : 30261613423
Option 4 ID : 30261613422

Status : Answered
Chosen Option : 3
Q.8 - . i
IUCATH EETHT UF 5@ & o@H Hid &7
Ans X 33T AT

X 2 T A

X 3 HT & FEHT

v 4 NI F AT
Question ID : 3026163385
Option 1 ID : 30261613539
Option 2 ID : 30261613540
Option 31D : 30261613538
Option 4 ID : 30261613537

Status : Not Answered
Chosen Option : --

9 45 -[2—-0.25{4—6+ (27— 0.7} =°
Ans - X 1. 3.00




X 2 250
V'3 275
X 4 325

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026163305
30261613219
30261613217
30261613218
30261613220
Answered

Chosen Option : 3

Q.1
0

Ans

T=foaa 8o & 3mrmer 92 F4r gem?
AD4, GJ10, MP18, .

v 8V22

X 2 3V21

X 3 VS22

X 4 8V23

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163338
30261613349
30261613351
30261613350
30261613352
Answered

1

1

Q.1 z 200 & =l & TF TF F BT T Tw F B Fwr o, BEdE 10% S ST st &

SorRer HT ME o, TS F IINF TR T MS| T 200 F He UFURT FH 10% TEF T W TH
T # v T F v @ R o o, g e F adaiie owaie @ ) g aee #

aRd ¥fST =ara g sfas geme

Ans x 1. 25 a A
<210 &
V'3 50 &
X431
Question ID : 3026163311
Option 11D : 30261613241
Option 2 ID : 30261613244
Option 31D : 30261613242
Option 41D : 30261613243
Status : Not Answered
Chosen Option : --
Q.1




Count the number of squares in the following figure.

Chosen Option :

Ans x 1. 8
v 26
X3 7
X4 25
Question ID : 3026163350
Option 11D : 30261613400
Option 2 1D : 30261613398
Option 31D : 30261613399
Option 4 1D : 30261613397
Status : Answered
Chosen Option : 2
Q.1
3 TaoFa & fBEea Im g=v Aifg &+ o =y TR e
s 1 s seElsh
X 2 o1 gfEeTw
X 3 FE FAaTOE
Ly
X 4 FE JoEe
Question ID : 3026163395
Option 11D : 30261613577
Option 21D : 30261613579
Option 31D : 30261613580
Option 4 1D : 30261613578
Status : Answered
Chosen Option : 2
Q.1 is the Irish diplomat and former Director-General of the General Agreement on Tariffs and Trade (now, WTO),
4 who is called the “father of globalization™.
Ans X 1. Peter Gilmore
/X 2. Kiefer Sutherland
« 3 Peter Sutherland
/< 4 Ken Rutherford
Question ID : 3026163389
Option 1 ID : 30261613554
Option 2 ID : 30261613553
Option 3 ID : 30261613555
Option 4 ID : 30261613556
Status : Not Answered




Q1 #=r Rr ax Rewedt & ¥ S= B o ol @ welia §) 3w fwew #1 99w w S gt @ B

Chosen Option :

S wamw |
Ans X 1. FHolld
X 2. TR
<3 O
v 4 g g
Question ID : 3026163346
Option 11D : 30261613382
Option 2 1D : 30261613381
Option 31D : 30261613383
Option 4 1D : 30261613384
Status : Answered
Chosen Option : 4
Q.1 p 3 5
6 & 7S AT H Fcd HEAT A AT
22,4, 26,8, 30, 12, 34, 16, 38, ?
Ans of 1. 20
X234
X3 24
X 4 42
Question ID : 3026163349
Option 11D : 30261613393
Option 2 ID : 30261613395
Option 31D : 30261613396
Option 4 ID : 30261613394
Status : Answered
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X a
Question ID : 3026163327
Option 11D : 30261613305
Option 2 1D : 30261613306
Option 31D : 30261613308
Option 41D : 30261613307
Status : Answered
Chosen Option : 4
Q1 zerAE=E m T 9 m & & TFw gAw 7fae = F gy TeEnE & © § s Yo g e
Hegard __ @rm
Ans X1 3:1
X 2 4:1
X3 14
v 4 1:3
Question ID : 3026163361
Option 11D : 30261613441
Option 2 ID : 30261613444
Option 3 1D : 30261613443
Option 4 ID : 30261613442
Status : Not Answered
Chosen Option : --
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Question ID : 3026163333




Option 1 ID : 30261613332
Option 2 ID : 30261613330
Option 31D : 30261613329
Option 4 ID : 30261613331
Status : Answered
Chosen Option : 3
Q.2 for v Fuw 3 Trwet & eow & 9F it TE o BF Fla T Fuw aFEa w9 F et &
0 srgwor e ¥
h¥e:
T FTOFT W FeET & FANY IR El?ﬂ%o F airent @ Rl war @iy
s
. Rfes aafs = Rftar 2 &
II. gFawer ffT gy 3 si=ar & v B = #
Ans p
v . Fae S | HERT T g
X 2 gt sy e # E
X o hael Y || 3FFEIT FIT ¢
X o w5 fIsw agator 7@ HLar gl
Question ID : 3026163335
Option 1 ID : 30261613337
Option 2 ID : 30261613340
Option 31D : 30261613338
Option 4 ID : 30261613339
Status : Answered
Chosen Option : 4
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Ans X 1O
X2B
K3 A
v 4D




Question ID : 3026163344
Option 11D : 30261613375
Option 2 ID : 30261613374
Option 31D : 30261613373
Option 4 ID : 30261613376
Status : Answered
Chosen Option : 4
Q.2 » i
; eafataa # ¥ frw g &1 39 aRaT gem?
ans 1. 14448
v 2 34225
X 3 46232
< 4 46233
Question ID : 3026163306
Option 11D : 30261613222
Option 2 ID : 30261613224
Option 3 ID : 30261613223
Option 4 ID : 30261613221
Status : Not Answered
Chosen Option : --
Qéz What is the full form of CIBIL?
Ans 1. Code Information Bureau India Limited
/< 2. Central Information Bureau India Limited
/< 3. Commercial Information Bureau India Limited
W 4 Credit Information Bureau India Limited
Question ID : 3026163400
Option 1 ID : 30261613597
Option 2 ID : 30261613598
Option 3 ID : 30261613599
Option 4 ID : 30261613600
Status : Answered
Chosen Option: 2
042 controls the involuntary activities such as coughing and sneezing.
Ans X 1. Pons
/< 2. Cerebrum
+ 3 Medulla
X 4 Cerebellum
Question ID : 3026163378
Option 11D : 30261613509
Option 2 ID : 30261613512
Option 31D : 30261613510
Option 4 ID : 30261613511
Status : Answered
Chosen Option : 4




e K1 gAY de
X 2 g
X werees
v o dedaTeE

U 3 3, S 6 F FNFH F Ty T Teat F AT FEr TN 82

Question ID : 3026163374
Option 11D : 30261613493
Option 2 ID : 30261613494
Option 3 ID : 30261613496
Option 4 ID : 30261613495
Status : Answered
Chosen Option : 4
@2 Which among the following statements about matter is not true?
Ans : . . -
/< 1. Particles of matter have space between them
/< 2. Matter is made up of particles
/< 3. Particles of matter move continuously in liquids and gases
« 4. There is no force of attraction between particles of matter
Question ID : 3026163367
Option 11D : 30261613466
Option 2 ID : 30261613465
Option 3 ID : 30261613467
Option 4 1D : 30261613468
Status : Answered
Chosen Option : 4
U2 T T THEROT F F WS F AT TE 29w fAwew & 9w #
5 4.1
12 3
Ans x ; 65
18
1a
X228
B3
18
X222
18
- 64
42—
65
Question ID : 3026163301
Option 11D : 30261613202
Option 2 ID : 30261613203
Option 3 ID : 30261613201
Option 4 D : 30261613204
Status : Answered
Chosen Option : 4




Q.2

s o FIATS AT FoTER H AT F 6037 I TEER S|
Ans ?(1i'i|1?é'

v 2 mafdr
X 3. FHfFF TEAR
X4 g e
Question ID : 3026163388
Option 11D : 30261613551
Option 21D : 30261613549
Option 31D : 30261613550
Option 41D : 30261613552
Status : Answered
Chosen Option : 2
Q.2 yrar vs e 3T @ Fuw BT T § W F 3o i & R shhmrasy sy smErwaaa 3
9 17w AT
e
TR # FHAT A 39Uy 39 F Rad 9 987
FUA:
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Ans
21 e FUT || H SN AT F
X 2 Faer FUT | B FATFEET AT £
X 3 Fae HUFT | W FaeT FUT || Y FFFET 9T &
v o | 3T || ST FUAT F THET ATHRNT HTERTF ¢
Question ID : 3026163340
Option 11D : 30261613358
Option 2 ID : 30261613357
Option 31D : 30261613359
Option 41D : 30261613360
Status : Answered
Chosen Option : 2

Q.3 Fare gidor-afdas fGar & T &5 W ol 9w 3EF Aufe e & =« W 9n) 9w e e &
3T I TET ur?

A X1 EfoT.afeE
X 2 Iear-ateas
v 3 3ea-d

X . g

Question ID : 3026163353
Option 11D : 30261613409




Chosen Option :

Option 2 ID : 30261613411
Option 31D : 30261613412
Option 4 ID : 30261613410
Status : Answered
Chosen Option : 3
Q3
i Faw asH (FeEe) & TEataE 5 gl
Ans 3 1. CaCl,
X 2. Ca(OH),
V'3 Ca0
4 CaCo,
Question ID : 3026163369
Option 11D : 30261613473
Option 2 ID : 30261613475
Option 31D : 30261613476
Option 4 ID : 30261613474
Status : Answered
Chosen Option : 2
Q3 25 15 .
2 = 3R T HI FA A2
Ans 5
v
24
10
& 2.
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7
X3 —
13
10
r A Wi
4
Question ID : 3026163304
Option 11D : 30261613215
Option 2 1D : 30261613214
Option 31D : 30261613216
Option 4 1D : 30261613213
Status : Answered

1

Ans - X1.10000 m/s
X 2100 m/s
X310 mis

v 41000 m/s

Qé3 TF e W 400 Hz 3geq 3T 2.5 m ST & F o7 g=ar §1 ety e & e F2@w g

Question ID : 3026163364
Option 1 ID : 30261613456




Chosen Option :

Option 2 1D : 30261613453
Option 3 ID : 30261613455
Option 4 1D : 30261613454
Status : Answered
Chosen Option : 4
Q.3 o feW & = 12 9 F A T G T TR §, T qeery 4 SO F A 21 9 F T qwar
4 oy dam & IS @ F FE 3q A T ¥ T T deie AT geenlr I 7 F vHus w9
FRwem R L & 0 e B A T @ T F R e 9 e
Ans 3
X1 51=
7
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X3 54—
7
b
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7
Question ID : 3026163314
Option 11D : 30261613253
Option 2 ID : 30261613256
Option 31D : 30261613254
Option 4 ID : 30261613255
Status : Not Answered
Chosen Option : --
.3
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A
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Question ID : 3026163351
Option 11D : 30261613404
Option 2 ID : 30261613402
Option 31D : 30261613403
Option 4 1D : 30261613401
Status : Answered
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Question ID : 3026163319




Option 11D : 30261613273
Option 2 1D : 30261613274
Option 31D : 30261613275
Option 4 ID : 30261613276
Status : Not Answered

Chosen Option : --

Q.3 v T F AT FT TEAHF A, 355 ToiF BF0T F TECHF AT & 3T & e 5 e &
7 deurcEs AT w32
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?(2.£

2
eS|
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Question ID : 3026163316
Option 11D : 30261613261
Option 21D : 30261613263
Option 31D : 30261613264
Option 4 1D : 30261613262
Status : Not Answered
Chosen Option : --

L ama F FT T T=T FAOE FT TN STEF 22
Ans x.l_q'

v > TR

X 3. T

X 14 FERISE

Question ID : 3026163399
Option 11D : 30261613594
Option 21D : 30261613596
Option 31D : 30261613595
Option 4 1D : 30261613593
Status : Answered
Chosen Option : 4

Q.3 v wEfre e 9z A edEeT #F 8 kmh F 3tag Y ¥, 3ew 3 AT 3 kmvh W 3
9 ammdr & freiEEr & 2 kmh ¥ @7 FEAT §1 G T Y s stea i (km/h #) w2 E2

Ans X1 3
X238
V'3 3.43
X424

Question ID : 3026163322

Option 1 ID : 30261613285
Option 2 ID : 30261613287
Option 31D : 30261613288
Option 4 ID : 30261613286




Status : Answered
Chosen Option : 3
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Ans
o
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Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question ID :
Option 11D :

3026163342
30261613367
30261613366
30261613365
30261613368
Answered

1

Q.4 v STy H T 3T AeF F WA T T FF T S BT R TR F S AT
1 Fgfed T FIT Fer AT 87

Ans ?‘ﬁ- q =) i




X 2 FETEH (YT F=r
v o STAT HOTeHS AT
X 4 HTIATRIOT FAT

Question ID : 3026163375
Option 1 ID : 30261613497
Option 2 ID : 30261613500
Option 3 ID : 30261613498
Option 4 ID : 30261613499
Status : Answered
Chosen Option : 1
Q.4 = #ifE F F-F ST F TS Tod & o0 3HF ST AT 3l I8 UF godl HOEHE &Y B
2 a4 & o R T TET  fR s ¥ =g i @ A aaET
NaCl+ Hy Q+C 0y + NH;=?
i AiftTE g FElae
X 2 FAIATH FARSS
X3 yEfaTs FElae
X 4 AfzaR FERe
Question ID : 3026163371
Option 1 ID : 30261613482
Option 2 ID : 30261613481
Option 31D : 30261613484
Option 4 ID : 30261613483
Status : Answered
Chosen Option : 1
Q4 FfFwsr F ST 2018 FETETETE T F9 F R o F [N # 10 FHew v Bt
s F = e F R ST e w2
SRR ot
X2 ggme
/< 3. 3YTUTEIS 92T
X+ RER
Question ID : 3026163383
Option 11D : 30261613531
Option 2 ID : 30261613530
Option 31D : 30261613532
Option 4 ID : 30261613529
Status : Answered
Chosen Option: 2

044 UH FHEAGHS H A H @S 16 cm AR 12 cm §1 FEAGES Hr IR Fr 82

Ans x1_
X2

28 cm
20 cm




< 3 56 cm
\’4» 40 cm

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 3026163318

130261613271
130261613272
: 30261613269
130261613270
: Not Answered
Chosen Option :

Y P & @ Sl & g 35721 # T 82

Ans X1 179
v 2 189
X3 171
X 4 201

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

3026163303
30261613209
30261613210
30261613211
30261613212
Answered

1

Q64 66 km/hr $f TFAR ¥ T FIA T & 33 TS H 465 m wAT TeT TR Her §| I bl wT A7

Ans 1. 180 m

X 2 240m
v 3 140m
X 4 160 m
Question ID : 3026163315
Option 1 ID : 30261613260
Option 2 ID : 30261613257
Option 3 ID : 30261613259
Option 4 ID : 30261613258
Status : Answered
Chosen Option : 3
Q4 5z _ : "
7 72kmh~! T =TT A ms~! H A F T IH ferg=r|
Ans X 1.2.0
< 2. 72000
< 3200
v 420

Question ID : 3026163357
Option 1 ID : 30261613425
Option 2 ID : 30261613428




Option 31D : 30261613427
Option 4 1D : 30261613426
Status : Answered
Chosen Option: 2
Q.4 : :
s 3T Ha F IIF FL S 3T WA & B T
a b c d e
Ans 1. d
2.a
3. b
4. e
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026163348
Option 11D : 30261613392
Option 2 ID : 30261613390
Option 3 1D : 30261613391
Option 4 ID : 30261613389
Status : Answered
Chosen Option : 3
Q.4 ST v FER FT F AT F TE F @8, orwer w3 ER F R # ¥ s A e aw H
9w, T o I AR B TEE OF FE B OF AR @y 6 F 4 9F T F qY 90° F AT
FAT 1 3w oy e fw & s B
A
"X g
™,
v 2 g
X 3. gi&or
X 4 3o
Question ID : 3026163354
Option 11D : 30261613415
Option 2 ID : 30261613414
Option 31D : 30261613413
Option 4 1D : 30261613416
Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026163307
30261613226
30261613228
30261613227
30261613225
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

3026163329
30261613314
30261613315
30261613316
30261613313
Answered

4

°2-5 R v aTG FEHT 20% F TeAT ¢, A 3HH Al FAT

Ans x 1. BB%
X2 77%
< 3 66%
v 4 44%

T T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026163360

30261613439
30261613437
30261613438
30261613440
Not Answered




%° 25 FAalr 1948 Fr P @ 7 a1

Ans X1 FHER
X 2 YFAR
X 3 HIAERT
v TaER
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026163317

30261613267
30261613268
30261613266
30261613265
Not Answered

QS5 iy WHER & 7 FeF FAEAHAST T - 99 o5 wwed sfaETE, 2016 - @ caewt s

4 ofeama T FH Y & oAl & YA T STAE S I g
Ans X117
X212
v 14
X 4 18
Question ID : 3026163393
Option 11D : 30261613572
Option 2 ID : 30261613570
Option 31D : 30261613571
Option 4 ID : 30261613569
Status : Answered
Chosen Option : 2
Q.5 ey v wem AR 2 TEEROT BT o ¥ e 7 3o 2w ¥ v shmveliad et oo B
5 g W= A
z & 7T 7T FifaT, oy
i 2 1 0
P A=[3 1]'B=[0 z]
2) AB=A
Ans ¢ : i
v 1 g&at 1 T9 2 Tara ¢
Xegrar1am29arca ¢
X3 Faer 1 ggea &
X 4 Fael 2 g &
Question ID : 3026163343
Option 11D : 30261613372
Option 2 ID : 30261613371
Option 3 ID : 30261613369
Option 4 ID : 30261613370
Status : Answered
Chosen Option : 3




TR grem g
Ans - 2 1..3900
v 2 3993
< 33990
< 4 3981

Q.5 : 3000 # T IR A & THFhE g AT 30% I SIS & I HEY FA W T a9 H 2 #r

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163312

30261613247
30261613245
30261613246
30261613248
Not Answered

CgS T 75 31K & S AAHT F HUR R THEIT T ey # Igee Y
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Question ID
Option 1 ID
Option 2 ID

Status:
Chosen Option

: 3026163332

: 30261613326
: 30261613327
Option 31D :
Option 41D :

30261613325
30261613328
Answered

14

@5 The girth of stem or root increases due to
Ans 1. calary meristem

/< 2. intercalary meristem

/< 3. apical meristem

« 4 lateral meristem

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026163377

30261613508
30261613506
30261613505
30261613507




Status : Answered
Chosen Option : 3

s K1Q-t
X2Qxt
X3t/Q
viQ/lt

065 o faega 1R (Q) 3R @A (t) @ a2 @, & fega uny (1) 9 e F G F4r g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026163366
30261613463
30261613461
30261613464
30261613462
Answered

Chosen Option : 2

% A BT e B & B S Asg P

Ans 1 o5
2 22
3. 21
4 24

for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026163352
30261613407
30261613406
30261613405
30261613408
Answered

3

Q.6 ¥ i
i 2°x3 x5 x7 & frae U wH T §2
Ans 1. 464
v 2 576
X3 168
X 4 288




Chosen Option :

Question ID : 3026163308
Option 11D : 30261613231
Option 2 ID : 30261613230
Option 3 1D : 30261613229
Option 4 ID : 30261613232
Status : Not Answered
Chosen Option : --
Q.6 * :
2 & GFET & ST B
Ans *
« 1. J3 falﬂ-';lar 3-'“1 q.:uara.:
X 2 oyETeRrer AT SideEr
X 3 greTeRrer AR =R
X 4 orererrer 3T afde
Question ID : 3026163379
Option 11D : 30261613516
Option 2 ID : 30261613514
Option 31D : 30261613513
Option 4 ID : 30261613515
Status : Answered
Chosen Option : 4
Q.6 e fswr # @ 3t T F IS 7 - 1 1 W He0 & A 72 kg # e @ Femr s
3 aifee, arfr oRomer T & s 6 1 @R
Ans x 1 -1 kg
v 2 15 kg
X3 2 kg
X 4 3 kg
Question ID : 3026163310
Option 11D : 30261613237
Option 2 ID : 30261613240
Option 31D : 30261613238
Option 4 1D : 30261613239
Status : Not Answered

4 Feeres FAT EEM?

Ans o 1. UPZPUB
X 2 PUZUBP
X 3 ZPUBPU
X 4 UPSZPU

Q.6 fy v fFdw amar &, PLANT # QMBOU & &9 & Fzae R Sarm £, & 31 oo & TOYOTA &

Question ID : 3026163331
Option 11D : 30261613321
Option 2 ID : 30261613324




Option 31D : 30261613323
Option 4 ID : 30261613322
Status : Answered
Chosen Option : 1

Q.6 ww TfEr AT TTURT 4T &7 WX 5 &Nt & 7 457 3 10 It F 7 574 g =nar ¥ ufYr & AW (T9Er
5 %) s

ans 1. 280
< 2 500
X 3420
v 4 340
Question ID : 3026163309
Option 11D : 30261613236
Option 21D : 30261613234
Option 31D : 30261613233
Option 4 1D : 30261613235
Status : Answered
Chosen Option : 4

e . e e staTelr

% 20187 Tele g8 frew “TmmEa” @ T Fie R

X 2 F Fegary
X 3 Ty, TH. TATARDT
X 4 TIHAR e
Question ID : 3026163384
Option 1 ID : 30261613534
Option 2 ID : 30261613535
Option 31D : 30261613536
Option 4 ID : 30261613533
Status : Answered
Chosen Option : 1
.6 i
°7 gferar #r 9genr Uae T wfadiEer BFa g 7 e g oA
ans 1. TH
X 2 fEgeaels
v 3 gfgoT i
X 4 A
Question ID : 3026163381
Option 11D : 30261613521
Option 2 ID : 30261613523
Option 31D : 30261613524
Option 4 ID : 30261613522
Status : Answered
Chosen Option : 2




Q.6 zfr ez INCOMPREHENSIBILITIES & 9ger 3K

. g@Y, Jray i @i L oy we e Rt

T HMOE H §¢oT ST £, df §1E 3N @ Ueggar e} 4 gem?

Ans x 1. ]
v 2L
PERY
X 4R
Question ID : 3026163336
Option 11D : 30261613341
Option 2 ID : 30261613343
Option 31D : 30261613344
Option 4 ID : 30261613342
Status : Answered
Chosen Option : 1
Q§6 a1 foaior $¥r 1632 & o fomam o a7 st S 1648 & I A @ gam )
Ans  of 1. AT HEA
X 2 e AEAR
33
X3 A "JEe
X 4 et fopaT
Question ID : 3026163394
Option 1 ID : 30261613573
Option 2 ID : 30261613576
Option 31D : 30261613574
Option 4 ID : 30261613575
Status : Answered
Chosen Option : 1

Q7 s mram it s ik i F AR d s T e e T aes = O
0 srgmeor =& #1

HUT:

A. meir dgT AT E
B. T a9 JgT §I
[Chcor

. $o amw 9§

Il. #% 97 arer =& B

Ans x_l;rl__n.ﬁq_-lé-la_ﬁf\raﬁmn 3-qu-.l-|~{ul ﬂh'{d|%
X 2 T oY HgEer W

X o ae || AT FLAT &

& FHaS | HFEIOT FAA §

Question ID : 3026163328
Option 11D : 30261613312




X 2 AT gaer

X 3. 3TUT=IT 99T

Option 2 ID : 30261613311
Option 3 ID : 30261613309
Option 4 ID : 30261613310
Status : Answered
Chosen Option : 1
Q.7 MW@mWa?@mﬁwﬁmmgwmm%%ﬁﬁ@mwm
1 zum & sE®fka &
FUA:
H FOT & o H9H &R ¥ H9 4 T FepaTl
TG
|. UM F T T $TIAC FrowT 3w FE
Il 37sTerer @ @ S-F7F 9T A9 FLAT Hisel @ T4 2
Ans - ¥
X1 grargrom | am |l a=ea &
X 2 haer uron || 3afHRd &
V'3 Fad 9aRoT | 3dfated &
Xegaramom | 7 & |l 3af=Ra &
Question ID : 3026163334
Option 1 ID : 30261613335
Option 2 ID : 30261613334
Option 31D : 30261613333
Option 4 ID : 30261613336
Status : Answered
Chosen Option : 3
Q7 ;
zméﬁmﬁgﬁm#qﬁﬂﬁﬁ FT 3CUTEA gl [T 71T oT?
Ans .
1.
X 1. affearg
v 2 3T geer
X 3 FT
X o 78 R
Question ID : 3026163398
Option 11D : 30261613591
Option 2 ID : 30261613590
Option 3 ID : 30261613589
Option 4 ID : 30261613592
Status : Answered
Chosen Option : 2
Q.7 . . . .
3 H T2ug == 89 i g8 F=T TET T
Ans ‘,
. RAfFes




Question ID : 3026163396
Option 11D : 30261613582
Option 2 ID : 30261613583
Option 31D : 30261613584
Option 4 1D : 30261613581
Status : Answered
Chosen Option: 3
047 30 REeT #1909 S T 98 ¥ 38 TN FEed § S TR guu g 9ge 9g ¥ @eig #
31?!3—7 i -7 10 IR 51 B g
Ans x w
BR-oCoir
v 2 graffe
X3 Ygq
X 4 i
Question ID : 3026163345
Option 11D : 30261613377
Option 2 1D : 30261613379
Option 31D : 30261613378
Option 4 1D : 30261613380
Status : Answered
Chosen Option : 2
Q.7 - :
5 JTET 2018 ¥ WA F HGUAT Fid g7
Ans x +
1. 3 HdETe
v 2. FIETEE BiAETe
X 3. ST FAR
X 4 e 29
Question ID : 3026163391
Option 11D : 30261613562
Option 2 ID : 30261613561
Option 31D : 30261613564
Option 4 1D : 30261613563
Status : Answered
Chosen Option : 2

Ans X1.17139
X 2 19239
V= 31239
X 4 29039

Y AT S TEm IR T} ?




Question ID :
Option 11D :
Option2 1D :
Option 31D :

3026163302

30261613205
30261613206
30261613207

Option 4 ID : 30261613208
Status : Answered
Chosen Option : 3

Q.7 A v wH @ ¥F 11 Bl F o7 goar § I9F B &1 50 3T =S H 165 B eed 1 C F @y
7 fewet w G e # 3 5.5 e oed §1 AR C MR D Mo 22 Rt A Fw A wa § A D
F HFT FE O FA F WT e BE & dmEemsar aeie?

Ans ,’1. 66
X277
X 3. 55
X4 44

Question ID : 3026163313
Option 1 1D : 30261613251
Option 2 1D : 30261613252
Option 31D : 30261613250
Option 4 1D : 30261613249
Status : Not Answered
Chosen Option : -

Q7 Force / acceleration = ?
Ans - X 1. momentum

/< 2. pressure

/< 3. velocity

« 4. mass

Question ID : 3026163358
Option 11D : 30261613429
Option 21D : 30261613430
Option 31D : 30261613431
Option 4 1D : 30261613432
Status : Answered
Chosen Option: 1

Y BFE ¥ gaRT 2018 F USgHST Well #7 AT H TS o2
Ans o1 e

<2 gfEar

< 3. ZTEYUT 3TRTeRT

v o arEeferaT

Question ID :
Option 11D :
Option 21D :
Option 31D :

3026163382

30261613526
30261613527
30261613528




Chosen Option :

Option 4 ID : 30261613525
Status : Answered
Chosen Option : 1
VByvkirmamsmgMHikcGasmdiHIRG VS =
Are X1 HATar-Rar
X 2 ==
v ETET-aey
X 4 FATAT-ATAT
Question ID : 3026163326
Option 11D : 30261613301
Option 2 1D : 30261613304
Option 31D : 30261613303
Option 41D : 30261613302
Status : Answered
Chosen Option : 3
Q8 o g wOT F A AF x = - W x = — § whE # fhRE § ¥ R e G
ST geaT 27
Ans X1 (11x + 1)(9x- 1) =
V2 (11x- (9 + 1) =
K3 (1lx-1DH(9x-1) =0
Xa(llx+ DOx+ 1) =0
Question ID : 3026163324
Option 11D : 30261613293
Option 2 ID : 30261613295
Option 31D : 30261613294
Option 4 ID : 30261613296
Status : Not Answered
Chosen Option : --
Q.8 v gy 1 5 T TEAIH H AT 19 §, FalH THIT 7T F T H @ 13 FEwms & e
2 5 ¥l 8 3Raw (TEd T FEArst & AT F=4T 7
Ans X 1. 2275
X 2 2350
X 3 2375
v 2225
Question ID : 3026163325
Option 1 ID : 30261613297
Option 2 ID : 30261613299
Option 3 1D : 30261613300
Option 4 ID : 30261613298
Status : Not Answered

Q.8




3 U TR W IR A AN 14ms™ i A F G o AR T 10 m FN 38 seuen By oF e &
o a5g garw o aIw @Eg H e &)

Ans X' 1. 153 s
X 2163 s
X<3133 s
v 4143 s
Question ID : 3026163359
Option 11D : 30261613433
Option 2 ID : 30261613434
Option 31D : 30261613436
Option 4 ID : 30261613435
Status : Answered
Chosen Option : 4
.8
8 ofy sear-afPem # sear Far ST ¥, & 9fFEw W o Far Sem
ans 1. Beer
X 2 of¥gs
v 5 FeR-IRER
X 4. grEyoT-qa
Question ID : 3026163347
Option 11D : 30261613387
Option 21D : 30261613388
Option 31D : 30261613385
Option 4 1D : 30261613386
Status : Answered
Chosen Option : 4
Q.8 e "
s 3§ Jel H Tcd 98 AT HIf=T|
11, 12, 13 23, a4 19 -4 23
a1 15
X216
Vs 17
X 414
Question ID : 3026163339
Option 11D : 30261613356
Option 2 ID : 30261613355
Option 31D : 30261613354
Option 4 ID : 30261613353
Status : Not Answered
Chosen Option : --

Ans

L oafaRe § ¥ Fiaa e a @




X 1. gofreT: CH, = CHj

X 2 98 CH; — CH, — CH— CH = CH,
v 2 T8 : CH; — CH, — CH = CH,

X 4 grde: CH;—CH,; = CH,

Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID

3026163373
30261613489
30261613492

130261613491
130261613490

Status : Answered
Chosen Option : 4

@8 Which of the following is not an animal tissue?

Ans X 1. Muscular tissue

/< 2. Connective tissue
v 3. Meristematic tissue
/< 4. Epithelial tissue

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163376
30261613502
30261613501
30261613504
30261613503
Answered

3

% COs ¥ TmeT VI Feum Y IUET F
Ans X' 1. 461
\’2 441
/X3 40u
X 4 451

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026163368
30261613471
30261613469
30261613470
30261613472
Answered

2

Q.8




Prafafae ot foe 9r ast & o) wget & IRoTAt #7 sedT gfes R &)

School | 2012-13 | 2013-14 2014-15 | 2015-16
Name
XYZ 78 69 81 92
ABC 6l 72 84 96
PQR 81 92 85 97
UV 92 69 72 95

forw w3 # veiT & @ 5T W@ R

ans 1. PQR
X2 TUV
X3 XYZ
v 4 ABC
Question ID : 3026163341
Option 11D : 30261613363
Option 21D : 30261613364
Option 31D : 30261613362
Option 41D : 30261613361
Status : Answered
Chosen Option : 4
Q.9 wehe g et Rega v B S o ue avg Wl Yo A o s § s e v v A
0 omdragad & smeiae g
Ans 3
x 1. ta
i a
J 2. -EE
1
x 3. tE
1
x 4. ta
Question ID : 3026163362
Option 1 ID : 30261613445
Option 2 ID : 30261613446
Option 3 ID : 30261613448
Option 4 ID : 30261613447
Status : Not Answered

Chosen Option :

T ®IM = hh, #,
A1 M= 3,
X 2 M= 3aea,

X 3

M- gead, hi— sfafds & 3918, ho— a5 &1 515

m, h; 3T h, 7T 2T &2
h— fafss &r 3918, h— asg & =15
hi— &g & F18, ho— sfafea fr F=r3g




X a
M— SeTH, hi— I&g & 418, ho— Sfafds @ e

Question ID : 3026163363
Option 1 ID : 30261613450
Option 2 ID : 30261613449
Option 31D : 30261613452
Option 4 ID : 30261613451
Status : Answered
Chosen Option : 2

Qé9 ST Y & AEaRfET g 9nT & ggd MUATdr & H&R # 3eew Tohar T g2

Ans X 1. &9 |
22 g
X 3 g IV
Vs ol

Question ID : 3026163390
Option 11D : 30261613557

Option 21D :
Option 31D :
Option 41D :

30261613558
30261613560
30261613559

Status : Not Answered
Chosen Option : --

Q.9 it & 3w o = 99e H S BU Tw T F weT {EA (2) F o W SEE w7 § @
S, A HHEEIOT FOFE T F @ FE

((10092)72)?10 = 59

Ans X1+ + +
w2y By
«. 3 _! _l +
x 4.+ XX
Question ID : 3026163337
Option 11D : 30261613348
Option 2 ID : 30261613347
Option 31D : 30261613346
Option 4 ID : 30261613345
Status : Answered
Chosen Option : 3

% fraw T et § ¥ 5w ¥ e
As 1 forarr
v 2 R
X 3 g
X4 farg




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026163392

30261613568
30261613565
30261613567
30261613566

Status : Answered
Chosen Option: 2

L Fha & ampla g wuel S FoT AR FEer w7 alF F @ Fem?

< <€ << >
Ans x 1. <>
X 2 >>>
X 3 >
4>
Question ID : 3026163330
Option 11D : 30261613319
Option 2 1D : 30261613317
Option 31D : 30261613320
Option 4 1D : 30261613318
Status : Answered
Chosen Option : 4
Q.9
6 Teh ST B 2
A +
ns x 1 7 m
X 2 =raer
'3 T
i
X a EﬁE
Question ID : 3026163397
Option 11D : 30261613588
Option 2 ID : 30261613586
Option 3 1D : 30261613587
Option 4 ID : 30261613585
Status : Answered
Chosen Option: 3

@ # O e o F fraw 9 w9 97 A S
e K70 w
X2 55 g&
v 35 g2
X4 40 g&

QI e i amAch s sRrih weESIadsa s vt sk Fsa s A S =
7 35 wet & o wHA L, A FE A B 4 g o 70 oo F 9f =@ W AW T ¥ amh W

Question ID : 3026163320
Option 11D : 30261613280
Option 2 ID : 30261613279




Option 3 ID : 30261613277
Option 4 D : 30261613278
Status : Answered
Chosen Option : 3
Q9 2001 & 2014 7% ¥ FHFEE # FUA TN AF WG FE 7T F gETES
e XK BeaR TR
( 2. TEITIT-[
X 3 T
X« fER
Question ID : 3026163387
Option 11D : 30261613545
Option 2 ID : 30261613546
Option 3 ID : 30261613547
Option 4 D : 30261613548
Status : Answered
Chosen Option : 2
Q9 The resistance of the wire varies inversely as
Ans X 1. Temperature
' 2. Area of cross section
/< 3 Length
/< 4 Resistivity
Question ID : 3026163365
Option 11D : 30261613460
Option 2 ID : 30261613458
Option 3 ID : 30261613457
Option 4 1D : 30261613459
Status : Answered
Chosen Option : 2
Q.1 : : . .
00 Heating of ores in the presence of oxygen is called:
Ans X 1. Extraction
/< 2. Calcination
+ 3. Roasting
/< 4 Corrosion
Question ID : 3026163372
Option 11D : 30261613488
Option 2 ID : 30261613485
Option 31D : 30261613486
Option 4 ID : 30261613487
Status : Answered
Chosen Option : 3







